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#include <iostream>

using namespace std;

int main(){

int
al,a2,a3,a4,ab5,a6,a7,a8,a9,a10,al11,a12,a13,a14,a15,a16,a17,a18,a19,a20,a21

,a22,a23,a24,a25,a26,a27,a28,a29,a30,a31,a32,a33,a34,a35,a36,a37,a38,a39,
a40,a41,a42,a43,a44,a45,a46,a47,a48,a49,a50;

return O;

}
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#include<iostream>

Int main(){
int a[50],i;
oFFEE - WET W ARYE for(i=0;i<50;i++){
oHE cin>>alil;
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cout<<ali]<<endl;

}

return O;
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include<iostream> numliZRE&Enum0, numz2,

m.t maln(){. num3, ...num49
int a[50],1; R = O
e . o5 {E B £ =i=00%
for(.l—O,I < SO"+ 1 num[i]2numl0]
cin>>all]; e
cout<<ali]<<endl; EAEE =1
} ’ numl[i]#t2num(1]
eturn 0: =B = =490F
’ numl[i]F2num[49]
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al[10]

[IEANBEEREZRRVER
SR EZR10(E
-E101E%=E - 73 RIAHal0] ~ a[1] »

a[2] ~ a[3] ~ a[4] - a[5] - a[6] - a[7] -
a[8 ] ~ a[9]2R3RTR -
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a[0]
a[1]
a[2]
a[3]
a[4]
a[5]
a[6]
a[7]
a[8]
a[9]
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«ali+]], a[i++]
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A EIEESTTRZIER

‘C/C++FESRBEZ @S| HESITTR - MARE—RXR5|IHEERES - #lul
int a[100], b[100]; a=b; EXIEEZIEIER

5T mARBUEHRENSBER  HEETHENESNIRIENSE
SEE—ZM - B0 : int c[10]=34; B3R 1 c[10]81E 534




4T

— #EPE SRV HI IR

C




EY)RIRPEREEEIIRIE

BT

sl AlRe [BA| B [EEFEREN]={E], B2 ...}
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Int a[5]={(1, 2, 3, 4, 5}

EYEIIFRF IR D EEESE - to]DIELEND - )22 EL

DEHIE0 -
int x[10]={0, 1, 2, 3, 4}

-2 EHIR1ERO
int a[5]={}
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int a[5]={1, 2, 3, 4, 5}
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Int a[10]; a[-3]=5; a[20]=15; a[10]=20;
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#include{iostream>

usir

int main() {

int array[30];

int 1;

for (i=0;i<30;i++) 200 ) EA Pe &1 gy A\ B R

cin;farray[i]:

}
cout<< Array Value\n :
for (i=0:i<30:i++) {

cout<<"array[”<<i<<”] "<<array[i]<<end]l; 2l =] 59 B$ EU ﬁ@ I|:|:|I ié‘z }l_(sl_

return 0;
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